e—=

Ztapidindov Aertiov tod A.Z.0.

 DTKPITIKOX TIINAZ METEQPOAOTIKQN AEAOMENQN TEQPTIKON
- IAPYMATON AX.0 MHNOX ATIPIAIOY 1959 KAI 1960
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1—7 [18.112,7]16 4]16,4] 8,4 7,7| 23 |50
MYProy | 8—14{15.2|°5,6[17,7120,7| 8,6/ 8,4f — | 4
HApAy |16—21114 |14,4117.6/17,7) 9,41 9,4 5 |17
- 2298 (14,215,318 |18,8 8,4/ 9 | 3,5 2
930 [15,1/18,6[20 [22,6] 6,5]11 [ — | —
\\ » ¥
Méon Oco) Mpwde 14,3(15,320 [22,5] 6,5] 7,731,5|73
1—7 13,913,122 |21,6] 5 | 7,b|14 26
KOKkoNioN | 8—14 16,2(14,6[22 [21,6] T |6 | — | 2
KoPINg[Ay [ 10—21115,9{14,924 121,51 T |6 | — |9
22—28 13,3/15,4/19 [21,6] 6 [T |35 |13
2030 '15,6/16,5/21 |20,5] 6,312 | — | —
Léon Ocpla M [14,9]14.9)24 |215] 5 [ 5 |49 |50
1—7 [15,4/14,1(16,6/17,1{11,6/10,4/38 |75
17,1/16,5/20,9/20 |12,7112,1] — | 6
TPloypzy | 10—21(16,3/16,7]19,7/19,6{12,3/12,6/ 8 13
22--98115,1(15,9/17,7/18,4{11,6/12,1{16 |15
2930 15,2|122 [19,525,6/10,6(16 | — | —
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~=% O%)x M [15,8[17 |20,9]25,3[10,5]10,4]62 [109
1—7 |15,3{15 (21,6/20,6] 8 | 9 [29 |54,
Messhny | 8—14[17,7]18,423 |28 (10,8 9 | — | ¢
KAamgy |16—21 |17 [17,9)21,5/24 [10 12 |3 [16
229816 117,520,628 [10,p/12 | — |22
29—30/16,7|19,1{17 |23,8]10,2/12 |— |~
) — | e
S Muvic [16,517,6]23 [28 | 8 | 9 [32 |96,




